

## MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO.LTD.

### (CIN No. U40109MH2005SGC153646)

From:- Exècutive Engineer (Civil) EHV Civil Construction cum Maintenances Division Nashik "Administrative Building", Block No.6, 1" floor, Racca Plot, Old Saikheda Road, Jail Road, Nashik Road-422 101. Ph No.:-0253-2403101 (O), Extension Phone No, 0253-2403110

E-Mail ID :ee5710@mahatransco.in Website: www.mahatransco.in Ref. No. EEC/EHV/CCCM Dn/NSK/Techate:-

NO 1

1 0 DEC 2018

e- Quotation

Sealed and superscripted e- quotations are invited for the work of "Providing chainlink fencing around part of 132 KV Sub station Ramache Pimplas, Dist:- Nashik." As detailed in schedule "B" is enclosed herewith subject to following terms and conditions.

# Name of Work:- Providing chainlink fencing around part of 132 KV Sub station Ramache Pimplas,

The quotations should reach to this office on or before 19/12/2018 up to 15.00 Hrs

- 1) The rates [percentage] should be quoted on Firm Quotation basis (Two Bid System only) including cost of materials, labours & T&P etc. required for execution of the work.
- (a) Compulsory Primary Documents in 1st Envelop: (Technical Bid)
  - Valid Certificate of Registration of appropriate class for Civil works from PWD /MES/ Railways/ Jeevan Pradhikaran ETC.OR From Any Govt. / Central Government. GST/ GSTIN Registration Certificate. (ii)
- E.P.F. Registration Certificate issued by competent authority of Govt. (iii) (iv)
- Experience of having successfully completed similar civil works.
- Payment of EMD Rs. 3000.00 to be made by bidder off-line only upto 14.00hrs of 19/12/2018 in (v) the office of EE(C), Dn., Nashik. EMD details Amount and M.R. No. should be super-scribed on (b) Documents in 2nd Envelop: (Price Bid)

"一"。"阿斯林·斯勒"。"·

i) Price bid only where in the rates/percentage should be quoted in figures as well as in words.

### NOTE:- Envelop No.2 (Price Bid) will be opened after qualifying in (Technical Bid) Envelop No.1

- 2) The quantities enumerated in here attached Schedule B are approximate, however the payment will be
- 3) The work should be completed within 15 days from the date of handing over the site to commence the work, failing of which a penalty at 1/2% per week subject to the maximum 10% of the ordered value will
- 4) The work should be strictly carried out as per standard specifications & up to the entire satisfaction of the
- 5) Cement of approved make OF MANIKGARH/ACC/Orient/Rajshree as per IS 8912-1989 i.e.43-grade OPC or equivalent approved make will be procured & used.
- 6) No materials will be supplied by the MSETCL for this work except materials as shown in Schedule A
- 7) Payment will be made through First & Final bill/ R.A. bill basis at the discretion of undersigned.
- 8) The contractor will have to pay security deposit to this office equal to 5% of the ordered value.

E:\MSETCL\Work order 2018-19\E-enquiry\Prov. CF 132 KV Ramache Pimplas\ quotation 132 KV Ramace Pimplas

9) In case any accident occurred to the Contractor's labour/workmen during execution of work, the contractor will be fully responsible for all claims & compensation. No charge in any case will be borne

10) The materials to be utilized for the work should be getting approved from the Engineer-in-charge prior to

11) The terms &conditions enumerated in the approved Booklet "TENDER AND CONTRACTOR FOR WORKS" will be applied in this case & will be binding on the contractor entirely.

12) Right to accept any or to reject any or all the quotations without assigning any reason there of is reserved

13) Payment will be released to agency as per availability of funds. Further MSETCL will not pay any compensation due to non availability of funds.

Yours faithfully,

Executive Engineer [Civil] EHV Civil CCM Dn Nashi

Copy s.w.r.t.-

1) The Chief Engineer EHV Projects cum O&M Zone, Nashik.

2) The Superintending Engineer EHV CCCM Circle, Nashik.

Copy to-

1) Additional Executive Engineer [Civil] EHV Civil S/Dn- Nashik-II.

2) The Dy. Manager [F&A] Dn. Office, Nashik.

3) Master File/Notice Board.

the state of the s

#### MAHARASHTRA STATE ELECTRICITY TRANSMISSION COMPANY LIMITED EHV Civil Construction Cum Maint. Division. Nashik.

Name of Work - Providing chainlink fencing around part of 132 KV Sub station Ramache Pimplas, Dist:- Nashik

S	1 N				
No		Qty	. Un	it Det	
1	Dismantling the R.C.C. Work 1:2:4 and sorting out the mater such as steel etc. as directed and stacking them within the specific plant in the specific pla	200			- A A A A A A A A A A A A A A A A A A A
2	Dismantling stone masonry in lime or cement mortar include stacking the materils as directed with all leads, lifts etc. as direct excavation for foundations.	100	Cum	1. 283.50	
3	shoring and strutting etc. complete. (Lift upto 1.5 m.)	nd he ng	Cum	. 150.15	150.15
4	area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming watering including shoring and strutting etc. complete. (Lift upt Providing and laying in situ correct.)	1.00 g g,	Cum.	164.85	164.85
5	necessary form work, compacting and curing etc. complete. ( with Providing and laying in situ/Ready Miss.	0.50	Cum.	4898.85	2449.42
	trap / granite /quartzite/ gneiss metal for R.C.C. work in foundations like raft, strip foundations, grillage and footings of R.C.C. columns and steel stanchions etc. including bailing out water, formwork, laying/pumping cover blocks, compaction and curing roughening the surface if special finish is to be provided (Excluding reinforcement and structural steel) etc. complete, with fully automatic micro processor based PLC with SCADA enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete. With natural sand/V.S.I. quality Artificial Sand	0.50	Cum.	6006.32	3003.16
7 F	Providing and fixing in position TMT - FE - 500 bar reinforcement of various diameters for R.C.C. pile caps, footings, foundations, clabs, beams columns, canopies, staircase, newels, chajjas, lintels pardis, copings, fins, arches etc. as per detailed designs, drawings and schedules. including cutting, bending, hooking the bars, binding with wires or tack welding and supporting as required complete.	0.10	МТ	67193.70	6719.37
m et	roviding uncoursed rubble masonry of trap / granite / quartzite / neiss stones in cement mortar 1:6 in foundation and plinth of inner alls / in plinth of external walls including bailing out water anually, striking joints on un exposed faces and watering c.complete.	1.00	Cum.	4569.20	4569.20
pe	roviding and laying weep holes of 100 mm diameter PVC pipes as a drawing for abutment returns, return walls etc. Complete.	3.00	Rmt.	368.55	1105.65

E:\MSETCL\Work order 2018-19\E-enquiry\Prov. CF 132 KV Ramache Pimplas\132kV substation Ramache Pimpalas,

	Providing and casting in situ / ready mix PCC M15 grade of tr metal for coping to head walls / parapet including				
10	work, compaction and curing etc. complete. (with reversible dru Sand)	m 0.50	Cum.	7001.61	3500.80
11	work including scaffolding and curing etc. complete.	5.00	Sqm.	140.33	701.63
12	Providing internal cement plaster 12mm thick in single coat is cement mortar 1:4 without neeru finish to concrete or brick surface in all positions including scaffolding and curing etc. complete.	s, 5.00	Sqm.	223.38	1116.90
13	Providing and fabricating structural steel work in rolled sections lik joists, channels, angles, tees etc. as per detailed design and drawing or as directed including cutting, fabricating, hoisting, erecting, fixing in position making riveted / bolted /welded connections without connecting plates, braces etc. and including one coat of anticorrosive paint and over it two coats of oil painting of approved quality and shade etc. complete.	s g t 0.10	MT.	74564.70	7456.47
14	of 1:4:8 mix of size 450 x 450 x 670 mm. at 1.75 M.c/c with iron bar 16mm dia as hold fast including welding link with angle frame at 30 cm c/c with nuts and bolts and horizontal M.S. Angles at top and bottom of 25 x 25 x 5 mm size and vertical M.S. flat 35 x 5 mm and 25 x 5 mm horizontal including cross support of 40 x 40 x 6 mm angles both side at every corner or bend embedded in concrete blocks of 1:4:8 of size 450 x 450 x 670 mm including 3 coats of oil painting etc. complete.		Rmt.	1850.10	218311.80
15	Providing and applying two coats of water proof cement paint of approved manufacture and of approved colour to the plastered surfaces including scaffolding if necessary, cleaning and preparing the surface, watering for two days etc.complete.	10.00	Sqm.	60.90	609.00
10	Providing mandays for Unskilled labours for unforeseen works	2.00	Day	487.20	974.40
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1				254131.92
	- Lines   1 mile #   Million   7				45743.74
10-15	107 HP 8174 1 1 2				299875.66

Executive Engineer (Civil) EHV CCCM Dn. Nashik.

I / We hereby agree to carrypout the above work as under :-

a) At estimated cost.

b) Above.....% in words......Of Estimated cost in Schedule "B"

c) Below.....% in words......Of Estimated cost in Schedule "B"

I/ We have read the instructions and the same are binding on me / us.

Signature of the Contractors & Address.

E:\MSETCL\Work order 2018-19\E-enquiry\Prov. CF 132 KV Ramache Pimplas\132kV substation Ramache Pimpalas,